AP 2F#FEYRFIN) I2FERYF 2 BY
- Em S SR 3 CRRFY/E8) jEid

A\ 4=
R K P | BEAAEN - LEE L0 i&/‘*ﬁ s
ERFLE 101~109 KHEE RS 3’]& N

LAEFIGRET g R TELHEAEE RS HE o LR -

253 E A A BBARE E ek R el A R LT
BmARY 1L EY EE A Z fRAREOL LR

41 % Y B LRI AR AR AR S 4 o

5.EEP VAERY Y AL AL/ 77 g o o

FEE2Y P

FE A BRAAL R BRI F IR E G 2 CERLE
L.op #:=2 30%:

xR T 10% kAR L0% fFE 10%

o 2. TP FE 0% :

- = 20% % = % 20% % = = 30%

Lpzrg 4
OIS mfrr o 8 ¥ R -
() F-#4r + Fiv mo JEIL kA o MRAREE L e R a4 o
)+ " f1 L gy -
HE g/ ¥ ¥Ry BERERLTE -
RERLEEA (5) adF 3F Y 1 4F ¥ eh1 T o
2 REfe
D+ 727 %R EY 22 OLTHEF R HOER o
(251 EF FRBRE - BT LFHERFARFTE S B o
Q)2 inp LB Y G T RGP g YRR EPEREG YR

AEHLEAN

(=
&

-]

)
 (h
A

S

YT

\?A "]
=
A
b
e
3
E
&

-] A | R

CH.1-=F4 L AFEHE

11 | 1/23~1/26 |Lb{E R EHE A (A
H WA ES




ke

REPF

3

%
e
&

™ o

2/12~2/17

CH.1---
=AtbER
HiEA

1-1 BEEZ% A Bl iR Ap A
12 EFE A=A

e
=

WEHEs
./!/5?%&)%
/ /D%&E
OANFEZH
WIS
OmfEZ s
W Eap s
WL
OFREAF
O3S
0%tk
OHA

16 # 5
174 02/15 3%

2/19~2/23

CH.1--
— A ER
HIEH

1-2 A=At

e
=

W s
WpyE=g=]
e §=]
B H
OIREHE
OmfE# s
|_EXiEe]
O4EsE
OFREXNHF
OMF#E
0%tk
Dﬁm

21.22[%=1~
LRl s 1R
Y

2/26~3/1

CH.1---
=AtEER
HiEM

1-2 e A =rAthi i
=

1-3 [E52 3E B EA R TE
B

3/4~3/8

CH.1---
=AtER
HIEA

1-3 [E52 E B EA R TE
B

3/11~15

CH.2---
LGl E i

2-1 5]




ke

REHRE

3/18~22

CH.2---
L 8

- GuE 4=

/!/5?%&)%

/i/ﬂ%&
D)\Tﬁ?ﬁl}%
CFE s
OmiERE
D4 s
O
B4
e =e=]
0%tk
CIEAt

3/25~29

CH.2---
By 8

2-2 4By

= GuE2 4=

/%/E?%ZEI
/ /D%U?l
OANHERE
Wy ]
OB E
WA
O EE =
B3z i85
|l e=}
0%tk
CIEAt

26-27 % ¢ % 1=
SIS

4/1~4/5

CH.3—
B Al
fo

O&EREE
LUaF2E
W) =]
OANEHRE
[ s
OmfEZ s
D45
R
OFXERE
==
0%tk
OIHAt

04-05 #

[=8

P

4/8~4/12

CH.3---
HEFI4 8
=

3-2 FTEURRIERHES

DA
LUEF2E
|_PESsEe=]
OANEHRE
O
OmfEZ s
O4an s
O g
OFXERE
| Je e
0%tk
DH@

10

4/15~4/19

CH.3---
PRy A& B
=S

3-2 FTEUARIERHES




ke

REHRE

3

%
e
&

R

4/22~26

CH.3---
HESI4H A8l

3-2 FTEUARIEHEA

3-3 e IR E

3

22-252 7 Bk
2678 F 3%

12

4/29~5/3

CH.3--
HEYI4H &
o

3-2 FTEUARIERHES

3-3 HEHE_IAE

i

02[x=]) %2
= =R (P
*4)

13

5/6~5/10

CH.3---
HESl &
f

o va 2
FRHIEE

3-3 e IR E

08[%=1~4m
RN =

14

5/13~5/17

CH.3---
HESI4E A58
ek

3-4 BARZEE  FH -

=

15

5/20~5/24

CH.3---
HEFI4 8
=

3-4 BARZEE B -

=




ke

RGP F

3

\?‘\ s
Je
&

™ o

16

b/27~5/31

CH.3---
HESI4H A8l
PR

3-5 MERPME

=41

A 55

17

6/3~6/7

CH.4-
— AR
IRy
Mr

4-1 —HEBIBR DT

04 2 £ 78 (4
)

18

6/10~6/14

CH.4--
— 4R
Ry
Mr

4-1 —HEEIBR DT
4-2 _HERIR DT

105 = &g

19

6/17~6/21

4-2 BB DT

20

6/24~6/28

AR
(=53]
I
rﬁm
DT

#

U E
ERTEE

N

41 515

18 ¢

iy

26-27 % - = +R
SR EE L




